THRON + JAM STORAGE BAG
RAKMENTASCHF

SAC DF RANGEMENT
BOLSADEALMACENAMIENTD
BORSA DI STOLLALGID
OPBERGTAS

EN STORAGE BAG ASSEMBLY
DE MONTAGE RAHMENTASCHE
FR ASSEMBLAGE DU SAC DE RANGEMENT
ES CONJUNTO DE BOLSA DE ALMACENAMIENTO
IT ASSEMBLAGGIO DELLA BORSA DI STOCCAGGIO
NL OPBERGTAS MONTAGE

3

FoOCus Version 1 | 15.12.2020



THRON + JAM STORAGE BAG
RAKMENTASCHF
SACDFRANGEMENT
BOLSADEALMACENAMIENTD
BORSA DI STOCCAGGID
OPBERGTAS

FOOCUsS STORAGE BAG ASSEMBLY MANUAL



EN
DE
FR
ES

NL

Remove two pieces M5 screws on the topside of the downtube.
Entferne die zwei M5-Schrauben auf der Oberseite des Unterrohrs.
Retirez deux pieces de vis M5 sur le dessus du tube de descente.
Quite dos tornillos M5 de la parte superior del tubo diagonal.
Rimuovere due viti M5 dal lato superiore del tubo obliquo.
Verwijder twee M5-schroeven aan de bovenzijde van de onderbuis.

FOOCUsS STORAGE BAG ASSEMBLY MANUAL



EN
DE
FR
ES

NL

FOOCUsS STORAGE BAG ASSEMBLY MANUAL

Fix storage bag with with two M5 screws and 6Nm Torque.

Fixiere die Rahmentasche mit den zwei M5-Schrauben und 6Nm Drehmoment.
Fixez le sac de rangement avec deux vis M5 et un couple de 6Nm.

Fije la bolsa de almacenamiento con dos tornillos M5y un par de 6Nm.
Fissare la custodia con due viti M5 e una coppia di 6Nm.

Bevestig de opbergtas met twee M5-schroeven en een koppel van 6Nm.







FOCUS BIKES

Rotenwaldstraf3e 158
70197 Stuttgart
Germany

Legal Base:

Derby Cycle Werke GmbH
Siemensstrafie 1-3
49661 Cloppenburg
Germany

Telefon: +49 (0)4471 966-401745
Telefax: +49 (0)4471.966-210
E-Mail: info@focus-bikes.com

Druckfehler, Irrtimer und technische Anderungen vorbehalten.
1973K0017047

www.focus-bikes.com



